M*ﬁ?dﬂ(iﬁ%)?dﬂ%%@:ﬁ

98

/
1

ik — 3 | AT T — 123 RB WX
g = g — i J/
RIFU @ || || RIF m || jE
ol 0 S (R Wy
LFL 1 FL
GE= G: =
@ IE rﬂ I @ Blscoe 1100 — R 0E 6 0 R y fﬂ 3 @ B scae 1100 L REEHLIR
— 1.3 R AR R K
—7FE|§EE(5F§%)§EE%E%ETE
° ° ° ° 7 ° ° ° oT;W\N\
R FL R FL
O ]
[l 0o ] 8
it 1|FL
=161 =61
Jb = =
=7 (O] ) =] SCALE 1/100 ﬂ ol \ B]] SCALE 1/100
= Hjﬁ- L 113 KRR EKK Ehjﬁ. L mEBEHEIR
S8 B %
RIEE 120 RIEE 320 RIEE 45
_r'%B’_« 120 _r'%J?_« 130 _r'%B’? 60
Ve E 5 140 MIBEE § 80 VEES
M E R R 7 B SR M R N
5 & 5 3TE 57 5 & 5 NE E 5 & 5 33k &7
%8 = bk
% IE 2 Bl6mm 3 E EBlomm 3 2 B 6mm
B B B
S 3| |
i, . . -
% 1170 KEER 180 — [NIEKX [80 NEVEES — (NEEX [80 —
NS R 210 e E 210 e E 125 e E 215 e E 215
MEBEREANE K RN # g R A EE=N? ERE RNz
B2 5 NE 6] B B & 7 E o) B A Bkt N & 5 NE [ B & 5 NE [ B
3 i olo 3 i Jd 13 Es i = <;|o s i o
BEHRERE W BERE W} EE & - Wl EE & Wl EE &
LR — & hERE —& h &R — K LERE —& \ LERE —&
a2 | it ot | 51 | 51|
= — T = = — B =JL=] = IREE LBIR 1
AR R E SR b [ 3 =2 S 22 5% 5T B A S
Wk - BBl = 1042 208 Ewe® | TEVLE PER B cm
ST . . i [ =2 1 Bif [=] = 0 1 o
\VAV §§%£02§222?§J5@y§%000mm WE&HB%E§$E§ ('%E% iﬁln__n %ﬁuyﬁ,OZ-Cﬁi) E3 et Bl#E A3 35‘5!5@




